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سایت تخصصی آزمون دکتریپی اچ دی تست؛ نخستین وب  

 ، هنر، کشاورزی و دامپزشکیانسانی گروه علوم سؤالات زبان عمومی -1

Directions: Select the answer choice (l), (2), (3), or (4) that best completes the blank. Then 

mark the correct choice on your answer sheet.  

 

سکک گ گزینه یککر   را  ر  کند، انتخاب کن د. به بهترین شکک ج یاخ لا ی را م م ج  یکه  4یا  3، 2، 1راهنمایی: گزینه »

 «پاسخنا ه لو  علا ت بزن د.

131- One of the director’s biggest jobs, ………… beyond acting, is that of creating a world for 

the characters to live in.  

1) that also go 2) which also goes                            

3) who also goes 4) also by going                                 

 صحیح است.   2گزینه  -۱۳۱

 ، مطابق ندار .که  فر  است (One of the director’s biggest jobs: فعج با فاعج )1ر  گزینه 

 مواند به کار رو .نمی whoسان ن ست،  ریع ضم ر  ویو ی ان: با مویه به این که 3ر  گزینه 

و فعج به  شدهضم ر  ویو ی حذف واره، واره ویفی را ندار .  ر یورت للایه کر ن یمهه: سکالتار یر   یمهه 4ر  گزینه 

  ر این گزینه اضافه است. byکند، بنابراین پ دا  یمغ  ر  ingفرم 

132- Each passage appears on its own page, beginning with the title, the genre or form of 

the passage, and the main comprehension skill ………… .  

1) and the passage addresses 2) for which the passage addressed                            

3) addresses the passage 4) the passage addresses                                 

 صحیح است.  4گزینه  -۱۳2

 است  ر این بخش یمهه کا ج ب اید.شروع شده، لازم  andبا مویه به این که بخش آلر بعد از ویرگول با 

  یگر عبارمی به)، کن م حذف را آن موان م ی ،باشد  ویو ی وارهیمهه  فعول ،(… ,who, which, that)  فعو ی ضم ر گرا

 و ی وی وارهیمهه فاعج،  فعو ی ضم ر اگر و ی(. کن م حذف را آن موان م ی ،برو  کارهب مههی  فعول براخ  فعو ی ضکم ر  اگر

 قابج حذف است. that.  ثلاً  ر یمهه زیر کن م حذف را آن موان منمی، باشد

I know the person that we saw yesterday. 
 حذف شده. which بو ه است که which the passage addresses ر یورت سؤال ن ز ا ا ه یمهه به یورت 

133- Because of chronic financial problems, the Penniworths were finally forced to sell 

their spacious brownstone overlooking the park ………… into a small apartment on the 

outskirts of the city.  

1) they moved                       2) and move                3) then moving                   4) and moved 
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 .صحیح است 2گزینه  -۱۳۳

 . بنابراین لازم اسککت کهمامی که موسککط این حرف به هم  روکر ن عبارات همسککان به کار  ی یهت  رمبط andحروف ربط 

 .شوند  اراخ سالتار گرا رخ ی سانی باشند رمبط  ی

 : حرف ربط ندار .1  گزینه ر

 : حرف ربط  ار ، ا ا سالتار فعج عوض شده است.4و  3ر  گزینه 

134- Modern-day psychologists have written about the childhood of eighteenth-century 

writer Jonathan Swift: ………… a posthumous child, but his mother was geographically 

distant from him in his early years.  

1) although he not only was 2) he was not only                            

3) not only was he 4) not only being  

 صحیح است.   ۳گزینه  -۱۳4

رونگی  ر یمهه رخ شککو  که وا ر ابتداخ یک یمهه آور ه شککو ، باعم  ی but (also)  not only …هنگا ی که سککالتار

 . شو   ع وس فعج و فاعج مرم ب بایدبدهد، یعنی 

135- ………… in her sitting room, Charlotte looked as if she were posing for Manet.  

1) Lying in repose on the seat 2) To lie in repose on the seat                            

3) In repose on the seat by lying 4) While was lain in repose on the seat                                 

 صحیح است.  ۱گزینه  -۱۳1

 هب. باشککد ی سککان ابتدایی وارهیمهه آن فاعج با ایککهی یمهه فاعج باید که  ار  ویو  ابتدایی وارهیمهه یک یملات برلی  ر

 Charlotteفاعج یمهه ایککهی  یا)که  ر این  هد ی قرار معریف  ور  را ایککهی یمهه فاعج ابتدایی وارهیمهه  یگر عبارت

 است(.

 است.  ing+  فعج، به ش ج باشند  ا ه رخ همز ان و  رظه یک  ر که عمج  و ب انکه  فاعج بدون سالتار

136- The western scientific view of the body is reductionist in that it sees the body as a 

machine that is made up of different components, ………… . 

1) with each is played the function identifies 

2) of which the identified function played 

3) each identified by the function it plays  

4) which identifies each function plays 

 ح است. صحی ۳گزینه  -۱۳1

یا  ر این. کن م حذف را آن موان م ی ،باشککد  ویککو ی وارهیمهه  فعول ،(… ,who, which, that)  فعو ی ضککم ر گرا

 حذف شده است. thatبو  که  that each identified by the function it playsواره به یورت یمهه



  

 های کنکور دکتریهای بدون آزمون؛ و دانلود رایگان سؤالات و پاسخنامهشآخرین اخبار و اطلاعات آزمون دکتری؛ پذیر | 3

 

سایت تخصصی آزمون دکتریپی اچ دی تست؛ نخستین وب  

137- Since the deregulation of airlines, delays at the nation’s increasingly busy airports 

………… . 

1) would have increased with 25 of percentage 

2) were increasing as much as by 25 percent  

3) increased by the percentage of 25 

4) have increased by 25 percent 

 صحیح است.  4گزینه  -۱۳1

 ور  قابج  هه آ ده اسکت، لازم اسکت فعج به یکورت حال کا ج سا ه  ور  استفا ه قرار گ ر .    ر یم sinceبا مویه به این که 

 percentageرو ، ا ا که علا ت آن % است با عد  به کار  ی percentاست.  percentageمویه  یگر  ر این مست، کاربر  

 رو .  کار نمیمرخ است که همراه با عد  بهعام واژه

138- This close connection between Polish Romanticism and Polish history became one of 

the defining qualities of the literature of Polish Romanticism period, differentiating it 

from ………… other countries.  

1) those from 2) that of                            

3) that in the one from 4) those there are in 

 صحیح است.  2گزینه  -۱۳1

 هاخ زیر باشد:مواند به یورتبخش  وم یمهه یورت سؤال  ی

from literature of other countries 

from other countries’ literature 

from that of other countries 

 .fromنه  و شو  ی استفا ه of از  ا   ت ب ان براخ: 3و  1ر  گزینه 

 

Directions: Select the answer choice (l), (2), (3), or (4) that best completes the. Then mark the 

correct choice on your answer sheet.  

 

سکک گ گزینه یککر   را  ر  کند، انتخاب کن د. که به بهترین شکک ج یاخ لا ی را م م ج  ی 4یا  3، 2، 1راهنمایی: گزینه »

 «علا ت بزن د. پاسخنا ه لو 

139- Though little is yet agreed in Paris as the UN climate talks enter their final days, 

nobody seems to doubt a deal will be ………… . 

1) blown                  2) shaken                   3) sworn 4) struck 

 صحیح است. 4گزینه  -۱۳1
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فعج  سککوم قسککمت( 3؛  رزیدن به  عناخ shake فعج سککوم قسککمت( 2؛ (با ) وزیدن به  عناخ blowفعج  مسککو قسککمت( 1

swear فعج  سوم قسمت (4؛ لور ن قسکم   عناخ بهstrike ( به  عناخ ضربه ز نstrike a deal  یافتن به  ست»به  عناخ

 .است« یک موافق

هنوز موافقات اندکی  ر پاریگ حایج شده ، ج به روزهاخ پایانی لو سکاز ان  ه وهوایی  ذاکرات آببا نز یک شکدن  اگر چه »

 «حایج لواهد شد. موافق اشته باشد که  کگ مر یدخرسد ه چاست، به نظر نمی

140- The coming of the machine age, which placed less of ………… on physical strength, 

might well have been expected to ease the subjection of women. 

1) an endeavor                  2) a distinction                                   3) a premium                4) an aggression 

 صحیح است. ۳گزینه  -۱41

 مهایم( 4؛ ارزش( 3 ؛ممایز( 2 ؛ملاش( 1

پ دا  اهشک زنان از سوءاستفا هکه  فته استر، انتظار  یشدف زی ی قائج  مرخ براخ ن روخکه ارزش کم با ظهور عصر  اش ن،»

 «کند.

141- When dinosaurs lived, this region was hot and humid, so there would have been no 

need for them to ………… . 

1) emerge 2) sprout 3) hibernate 4) evaporate 

 صحیح است. ۳گزینه  -۱4۱

 شدن مبخ ر (4؛ به لواب ز ستانی رفتن( 3 ز ن؛ یوانه( 2 پدیدار گشتن؛ (1

 «ن ازخ نبو  که به لواب ز ستانی بروند. بنابراین بو ،  رطوب و گرم  نطقه این کر ند، ی زندگی  ایناسورها که ز انی»

142- The manager considered the support of his staff ………… for the success of his 

project; he knew that without their cooperation he alone could not even think of it. 

1) indispensable 2) concurrent 3) redundant 4) spontaneous 

 صحیح است. ۱گزینه  -۱42

 لو هلو ب( 4؛ حد از ب ش( 3 ؛همز ان( 2 ؛ضرورخ( 1

یی منها ها، بهآن هم ارخ بدونکه   انسککت ی او  انسککت؛ ضککرورخاش پروژه ق ت وف براخ را لو  کارکنان از حمایت  دیر»

 «.کند ف ر آن به حتی موانستنمی

143- The actor was known for giving very ………… answers to interviewers, so everyone 

was surprised when he spoke to the journalist at length about his early life and his 

influences. 

1) reliable 2) compatible  3) covert  4) laconic  

 صحیح است. 2گزینه  -۱4۳
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  ویز ،گو ختصر( 4 پنهان؛( 3 ؛ نطبق سازگار،( 2 ؛قابج اعتما ( 1

 باث رش مأ و اشکیکو   وران  ور   ر وقتی بنابراین بو ،  عروف کنندگان صاحبه به  ویزش بس ار هاخپاسک   به بازیگر این»

 «.شدند ز هشگفت همه کر ، یربتبه مفص ج  لبرنگار

144- Sophie did quite poorly on her first two math tests, but on ………… exams she 

averaged between 90 and 100%. 

1) subsequent 2) pragmatic 3) hypothetical 4) minimal 

 صحیح است. ۱گزینه  -۱44

 ( حداقج4؛ فرض ه( 3 عمهگرا؛( 2 بعدخ؛( 1

 «.بو   رید 199 ما 09 ب ن ش  انگ ن بعدخ هاخآز ون  ر ا ا بو ، ضع ف بس ار لو  اول ریاضی ا تران  و  ر سوفی»

145- After a comprehensive investigation, the fact-finding committee announced that the 

accident was caused by a ………… . 

1) propulsion 2) density 3) defect 4) headway 

 صحیح است. ۳گزینه  -۱41

 پ شرفت( 4؛ نقص( 3 ؛مراکم( 2 ؛ ررکه ن روخ( 1

 «به عهت یک نقص رخ  ا ه است. حا ثه این که کر  اعلام یابحق قت کم ته یا ع، بررسی یک از پگ»

146- The newly designed national plan sounded perfect in theory, but the authorities did 

not proceed to implement it because it was not economically ………… . 

1) frugal 2) inflationary 3) eternal 4) viable 

 .است صحیح 4 گزینه -۱41

 ت، عمهی اراخ ا  ان  وفق ،  اندنی، ایرا قابج( 4؛ ابدخ( 3؛ مور ی( 2یو،  قتصد؛ ( یرفه1

 نظر از زیرا ،اقدام به ایراخ آن ن ر ند  سککئو  ن ا ا ،رسکک دبه نظر  ی کا ج مئورخ  ر ،شککده طراحی اًیدیدکه   هی طرح»

 «عمهی نبو . اقتصا خ

147- While the members of the president's cabinet wanted him to take a belligerent stance 

against a neighboring country, the president sought a peaceful ………… . 

1) continuum 2) compromise 3) impression 4) stimulation 

 .است صحیح 2 گزینه -۱41

 مرریک( 4 ؛مصور( 3 ؛سازش( 2 ؛پ وستگی( 1

  نبال هب یمهور رئ گ شدند، همسایه کشکور  یک عه ه لصکمانه   وضکع  لواسکتار  یمهور  گرئ کاب نه اعضکاخ  که حا ی  ر»

 «بو . آ  زیه سازش 
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148- During a violent revolt in 1989, the Romanian people did whatever they could to 

………… the government that was no longer sensitive to their needs. 

1) inflict 2) impose 3) overthrow 4) diminish 

 .است صحیح ۳ گزینه -۱41

  ا ن کاهش( 4 سرنگون کر ن؛( 3 مرم ج کر ن؛( 2 کر ن؛ ( مرم ج1

ح و تی که  یگر به  موانستند براخ سرنگونیکه  ی کارخ هر رو انی  ر م ،1090 سال  ر آ  زلشونت هاخشکورش  طول  ر»

 «.کر ند ی ها مویهی نداشت،ن ازهاخ آن

149- Tom Bradley once observed that the only thing that will stop you from ………… 

your dreams is you. 

1) fulfilling 2) foretelling 3) persevering 4) speculating 

 .است صحیح ۱ گزینه -۱41

 ( حدس ز ن4( حفظ کر ن؛ 3؛ کر ن ب نیپ ش( 2؛ برآور ن( 1

 «شما هست د.  ار ، لو تان باز ییاهایؤر برآور ن از را شما که چ زخ منها اظهار  اشت   یبر مام»

150- ………… and greed are said to always attract bad karma. You may benefit in the 

short term, but you will end up paying later. 

1) Autonomy 2) Longevity 3) Reaction 4) Malice 

 .است صحیح 4 گزینه -۱11

 ( سوءن ت4( واکنش؛ 3( طول عمر؛ 2( لو  ختارخ؛ 1

اش بعداً نت جه ا ا ،ببرید سو   دتکوماه  ر است  م ن. ندک یرا یذب  بد خکار ا هم شه حرص و سوءن ت که شکده  گفته»

 « ید. لواه د را

 

Directions: Read the following two passages and select the best choice (1), (2), (3), or (4) that 

best answers each question. Then mark the correct choice on your answer sheet.  

 

ه س گ گزینکند، انتخاب کن د. که به بهترین شک ج یاخ لا ی  ر سکؤالات لیج را م م ج  ی   4یا  3، 2، 1راهنمایی: گزینه »

 «یر   را  ر پاسخنا ه لو  علا ت بزن د.

Passage 1:  

Since antiquity, human beings have imagined life spread far and wide in the universe. Only 

recently has science caught up, as we have come to understand the nature of life on Earth and 

the possibility that life exists elsewhere. Recent discoveries of planets orbiting other stars and 
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of possible fossil evidence in Martian meteorites have gained considerable public acclaim. And 

the scientific case for life elsewhere has grown stronger during the past decade. There is now 

a sense that we are verging on the discovery of life on other planets. 

To search for life in our solar system, we need to start at home. Because Earth is our only 

sample of a planet endowed with life, we can use it to understand the conditions needed to 

spawn life elsewhere. As we define these conditions, though, we need to consider whether they 

are specific to life on Earth or general enough to apply anywhere. 

Our geologic record tells us that life on Earth started shortly after life’s existence became 

possible_only after protoplanets (small, planet-like objects) stopped bombarding our planet 

near the end of its formation. The last "Earth-sterilizing" giant impact probably occurred 

between 4.4 and 4.0 billion years ago. Fossil microscopic cells and carbon isotopic evidence 

suggest that life had grown widespread some 3.5 billion years ago and may have existed before 

3.8 billion years ago. 

Once it became safe for life to exist, no more than half a billion years_and perhaps as little as 

100 million to 200 million years_passed before life rooted itself firmly on Earth. This short 

time span indicates that life's origin followed a relatively straightforward process, the natural 

consequence of chemical reactions in geologically active environment. Equally important, this 

observation tells us that life may originate along similar lines in any place with chemical and 

environmental conditions akin to those of Earth. 

151- What is the main purpose of the passage? 

1) To highlight that human imagination preceded scientific inquiry into life forms on other 

planets 

2) To form a base for our search for life forms elsewhere in the solar system  

3) To chronicle the evolution of organisms on the planet Earth 

4) To describe life forms that appeared on Earth 

 .است صحیح 2 گزینه -۱1۱

 ح ات  ر  نظو ه شمسی هستند. همگی  ر لصوص و یمهه آلر  تن خ  تنهایملات اول پاراگراف

152- Which of the followings best describes the general reception of the discoveries 

mentioned in Paragraph 1? 

1) Disbelieving 2) Cautious 3) Enthusiastic 4) Skeptical 

 است. صحیح ۳ گزینه -۱12

public acclaim زیر  ر یمهه 

Recent discoveries of planets orbiting other stars and of possible fossil evidence in Martian 

meteorites have gained considerable public acclaim. 
  هنده اشت اق است.به  عناخ مرس ن عمو ی است که نشان
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153- Which of the following statements is supported by the passage? 

1) Conditions on Earth conducive to life formation may not necessarily be similar to those we 

may find elsewhere in the solar system where life is likely to the present.  

2) The fact that more than half a billion years had to elapse before life appeared on Earth 

indicates that the first life forms must have been much more complicated than we once 

imagined.  

3) The evidence obtained from the analysis of fossil evidence in Martian meteorites 

categorically proves that life on Earth has a Martian origin.  

4) We are about to discover locations in parts of outer space where conditions are similar to 

the conditions on Earth. 

 .است صحیح ۱ گزینه -۱1۳

 ر پاراگراف  وم  تن اشکاره شکده که ز  ن منها نمونه ح ات  ر  ست براخ بررسی است، ا ا باید بررسی شو  که شرایطی که   

 گ ر است یا ل ر.گ رخ ح ات  ر ز  ن شده،  زو اً همه ج نجر به ش

154- It can be concluded from the passage that it was impossible for life to originate on 

Earth ………… . 

1) when planet_like objects stopped impacting it 

2) some time before 4.4 and 4.0 billion years ago 

3) about half a billion years after the last giant impact 

4) when chemical reactions began to become abundant  

 .است صحیح 2 گزینه -۱14

ز انی از ا  ان زیسکت  ر آن آااز شککده است، ز انی که  ح ات  ر کره ز  ن پگ از اندک»وم  تن گفته شکده:  سک  ر پاراگراف 

ب ه ون سککال  9.4ما  4.4ب ن  عظ م ز  ن، احتمالاً« اسککتریج کر ن»مباران ز  ن را  توقف کر ند. آلرین آثار ها بپروموپلانت

 «پ ش رخ  ا ه است.

155- The word “those” in Paragraph 4 refers to ………… . 

1) life forms 2) lines 3) chemical reactions 4) conditions 

 .است صحیح 4 گزینه -۱11

اسکت، لازم اسکت اسکم قبج و بعد به یک  وضکوع اشکاره  اشکته باشند.       « / انند  شکابه  »به  عناخ  akin toبا مویه به این که 

 گر  .باز ی conditionsبه  theseبنابراین 

Passage 2:  

Ants number approximately ten thousand trillion worldwide. Each individual ant scarcely 

weighs anything, but put together they weigh roughly the same as all of mankind. They are 

also ubiquitous, thriving everywhere except on icy mountain peaks and around the Poles. No 

one knows precisely how many species there are, but it is estimated at over 20,000. For an 
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animal of its size, ants have been incredibly successful and his success owes much to the highly 

sophisticated social behavior they exhibit. 

In colonies that range in size from a few hundred to tens of millions, they organize their roles 

with a clear division of labor: a queen or queens whose job it is to reproduce; some fertile males 

who die shortly after mating with the queen; and the rest are sterile females who make up the 

main population of workers and soldiers, toiling away in a determined fashion. In some species, 

the bodies of these sterile females are adapted to the different jobs they have within the nest: 

building and expanding the nest, foraging for food, defending against predators and so on. 

How they achieve this level of organization and synchronization is even more amazing. Where 

we use sound and sight to communicate, ants depend primarily on pheromones, chemicals 

emitted by individuals and smelled or tasted by nestmates. A given species produces just ten 

to twenty signals, which unlike human language are entirely instinctive messages. A 

pheromone trail left by a foraging and will lead others straight to where the food is. When an 

individual ant comes under attack or is dying, it sends out an alarm pheromone to alert the 

colony to mobilize as a defense unit. 

In fact, when it comes to the art of war, ants are unsurpassed. They are completely fearless and 

will readily take on prey much larger than themselves, attacking in deadly swarms and 

overwhelming their target. Such is their dedication to the common good of the colony that 

workers will also sacrifice their own los to help others defeat the enemy. 

Behaving in this altruistic and dedicated manner, these little creatures have flourished on Earth 

for more than 140 million years, long outlasting dinosaurs. Because they think as one, they 

have a collective intelligence greater than the sum of its individual parts something you could 

hardly say of must species.  

156- Which of the following is the best title for the passage? 

1) Ants: Civilized Insects  

2) Why Ants are Omnipresent  

3) Ants' Evolution over Time 

4) Great Thinkers in the Animal Kingdom  

 است. صحیح ۱ گزینه -۱11

 ها هستند.هاخ  تن و یمهه آلر  تن همگی  ر لصوص ساز اندهی  نظم و کار گروهی  ورچهیملات اول پاراگراف

157- It can be inferred from the passage that ants ………… . 

1) cannot manage to survive in regions with cold climates  

2) acquire their system of communication gradually based on their needs  

3) show sort of linguistic behavior that is as complicated as that of humans 

4) never lose a fight to other animal species that may dare to attack their colonies  

 است. صحیح ۱ گزینه -۱11

 گفته شده: ر پاراگراف اول  تن 
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They are also ubiquitous, thriving everywhere except on icy mountain peaks and around the 

Poles. 
 .هاقطب اطراف و یخی کوه هاخقهه  ر یزبه ،کنند ی رشد یا همه  ر هستند، یا همه همچن ن هاآن

158- The passage provides sufficient information to answer which of the following 

questions?  

1) What evidence is available to prove that human language is acquired?  

2) Why do we not exactly know how many ant species exist?  

3) How do ants organize and synchronize their activities? 

4) When did dinosaurs go extinct?  

 است. صحیح ۳ گزینه -۱11

  تن به این  وضوع پر الته است. سومپاراگراف 

159- Based on the passage, NONE of the following statements is true about pheromones 

EXCEPT that they ………… . 

1) may be produced when there is no obvious stimulus to trigger their production  

2) are instinctive messages and limited in number  

3) each works like a sound in human language 

4) are universal among different ant species  

 است. صحیح 2 گزینه -۱11

  ر پاراگراف سوم  تن گفته شده:

A given species produces just ten to twenty signals, which unlike human language are entirely 

instinctive messages. 
 ها کا لاً اریزخ هستند.علا ت مو  د کند که برللاف زبان انسان، پ ام 29ما  19مواند  یمنها یک نوع 

160- Which of the followings best describes the tone of the passage?  

1) Critical and demanding 

2) Scholarly and concerned 

3) Euphoric but contused 

4) Neutral and objective 

 است. صحیح 4 گزینه -۱11

 ها موض رامی ارائه کر ه است.ها، عهت و نروه این نظم و ن ز امرا  آنیورت  نطقی  ر  ور  ساز اندهی و نظم  ورچه تن به  
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 و علوم پایه مهندسی-فنی گروه سؤالات زبان عمومی -2

Directions: Select the answer choice (l), (2), (3), or (4) that best completes the blank. Then 

mark the correct choice on your answer sheet.  

 

  را  ر کند، انتخاب کن د. سکک گ گزینه یککر  که به بهترین شکک ج یاخ لا ی را م م ج  ی 4یا  3، 2، 1راهنمایی: گزینه »

 «پاسخنا ه لو  علا ت بزن د.

131- The interweaving of so many different parts of physics ………… the tight logical 

structure of the laws of nature. 

1) illustrates 2) illustrating 3) they illustrate    4) are illustrated by 

 است. صحیح ۱ گزینه -۱۳۱

( است، ا ا یمهه فعج ندار . بنابراین  ر یاخ لا ی باید فعج قرار بگ ر  که گزینه interweavingؤال  اراخ فاعج )یکورت س 

 شو .ر   ی 4، گزینه مچن ن با مویه به  فر  بو ن فاعجشو . هر   ی 3و  2

132- According to noted neurologist Antonio R. Damasio, joy or sorrow can emerge 

………… physical changes in the body. 

1) only after does the brain register 2) to register the brain after only 

3) only after the brain registers    4) to register only after the brain 

 است. صحیح ۳ گزینه -۱۳2

 only همچن ن شو .آن  ر وسط این یمهه ن ست، پگ این گزینه ر   یسکالتار سؤا ی  ار  که    هی بر استفا ه از   1گزینه 

یایی فعج و فاعج( که ابتداخ یمهه باشکد و  ر وسط یمهه چن ن امفاقی  شکو  )یابه منها هنگا ی  ویب وارونگی  ر یمهه  ی

آ ده اسککت که سککالتار  after onlyبه یککورت  only after، 2 ر گزینه ن ز یککر   ن سککت.  4 هد. بنابراین گزینه رخ نمی

 اهطی است. 

133- The traffic light turns red, you stop, and an old lady steps into the crosswalk from 

the left. All of a sudden you are overcome with a feeling that you have been here before_ 

in the same car, at the same crosswalk, ………… . 

1) the same woman to step off the curb in the same way 

2) in the same way the same woman for stepping off the curb 

3) with the same way and the same woman to step off the curb 

4) with the same woman stepping off the curb in the same way 

 است. صحیح 4 گزینه -۱۳۳
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 شو  آور ه باید اضافه حرف یا قبهی کهمه با ارمباط براخ ،2 گزینه  ر the same woman از شکو ، چون قبج  ی ر  2گزینه 

 یک رعایت نشده است.شو  که ه چ گذارخبا کا ا فایهه یا و

استفا ه شو ،  toاز  صدر با  یا ب ان هدف، قصکد یمهه نبو ه و ضکرورمی ندار   موان گفت که  ر اینن ز  ی 3و  1 ر ر  گزینه 

 رسد.واره ویفی  ناسب به نظر  یچون حا ت موی فی  ار ، استفا ه از یمهه

 حذف ضم ر  ویو ی  اریم.  ر حق قت یمهه بدین یورت بو ه است:  4 ر این گزینه 

with the same woman which steps off the curb in the same way 

 مغ  ر پ دا کر ه است. ing ی، فعج به فرم وبا حذف ضم ر  ویواره للایه شده و که یمهه

with the same woman stepping off the curb in the same way 

134- Humans like to categorize, Hyde explains, and once we devise categories we 

immediately start judging ………… . 

1) one better than as another is       

2) one as better than another  

3) them of being better than others    

4) one better than the other as that is  

 است. صحیح 2 گزینه -۱۳4

لازم است قانون سالتار  وازخ را رعایت کن م، بدین یورت که عبارت قبج  more ……… than سالتار هنگام اسکتفا ه از 

 این  وضوع رعایت شده است. 2باید همسان باشند. منها  ر گزینه  than و بعد از

135- Pity Dorothy, The Wizard of Oz heroine, ran into her home in the face of an 

approaching "cyclone" after ………… out of the storm cellar.  

1) her locking    2) being locked 3) having locked   4) locking 

 است. صحیح 2 گزینه -۱۳1

ن از  اریم. با مویه به این که  ingبنابراین  ر یاخ لا ی به یک فرم  ،شککو  ظاهر ing فر ت  ر فعج باید اضککافه حرف از بعد

  جهول است. 2به فرم  جهول به کار رو . منها گزینه فعج فاعج فعجِ یاخ لا ی  ر یمهه ن ست، لازم است 

136- Catarrhine primates, the group that includes the Old World monkeys are all able to 

tactically dupe members of their own species. The deceptiveness is not built into their 

appearance, as with the mirror orchid, ………… in rigid behavioral routines like those 

of the hog-nosed snake. 

1) it is neither encapsulated    2) it is not encapsulated either 

3) nor is it encapsulated    4) and so is not encapsulated 

 است. صحیح ۳ گزینه -۱۳1

 فاعج مرم ب بایدشو  که وارونگی  ر یمهه رخ بدهد، یعنی  ر ابتداخ یک یمهه آور ه شو ، باعم  ی norهنگا ی که سالتار 

 . شو  عوض فعج و
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137- Insurance companies have reporting an increase ………… the instructions of their 

sat-navs. 

1) in accidents caused by drivers obediently following 

2) drivers cause in the accidents after following obediently 

3) of accidents do drivers cause when they obediently follow 

4) which drivers are caused in accidents by obediently following 

 است. صحیح ۱ گزینه -۱۳1

 مویه کن د: increaseهاخ استفا ه از فعج به روشاست.  increase ،inفعج  حرف اضافه

 increase (from A) (to B): The population has increased from 1.2 million to 1.8 million.  

 increase in something: Oil increased in price. 

 increase by something: The rate of inflation increased by 2%.  

 increase with something: Disability increases with age (= the older somebody is, the more 

likely they are to be disabled).  

 increase something (from A) (to B): We need to increase productivity.  

 increase something (by something): They’ve increased the price by 50%. 

138- When the next earthquake strikes the impressive but crowded city of Istanbul 

…………, the consequences are likely to be incredibly terrible. 

1) whose population is over ten millions 

2) with its population of over ten million 

3) of an over ten millions population 

4) in its population over ten million 

 است. صحیح 2 گزینه -۱۳1

million براخ . اهط اسککت 3و  1بنابراین گزینه  .گ ر هنگا ی که به همراه عد  ب اید، به یککورت  فر   ور  اسککتفا ه قرار  ی

 قرار گ ر ، همانند  ثال زیر: ofید بعد از آن یک ب اید، با populationاین که   زان یمع ت بعد از کهمه 

Japan has a population of nearly 130 million. 

 

Directions: Select the answer choice (l), (2), (3), or (4) that best completes the. Then mark the 

correct choice on your answer sheet.  

 

سکک گ گزینه یککر   را  ر  کند، انتخاب کن د. که به بهترین شکک ج یاخ لا ی را م م ج  ی 4یا  3، 2، 1نمایی: گزینه راه»

 «پاسخنا ه لو  علا ت بزن د.
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139- The link between ivory and violence adds even more ………… to the need to quash 

this deadly trade. 

1) dispute 2) speculation 3) ingenuity 4) urgency 

 صحیح است.  4گزینه  -۱۳1

 ضرورت( 4؛ نبوغ( 3 ؛گمان و حدس( 2 ، نزاع؛التلاف( 1

 «.است مشدید کر ه را  رگبار مجارت این  غو به فورخ ن از لشونت، و عاج ب ن ارمباط»

140- Astronomers have been able to examine much of the universe’s history by training 

their telescopes on distant galaxies and quasars that ………… their light billions of years 

ago. 

1) emitted 2) disguised 3) replicated 4) impeded 

 صحیح است. ۱گزینه  -۱41

 کر  مانعت ( 4 کر ؛ م رار( 3 مغ  ر ق افه  ا ،  بدل پوش د؛( 2 ع کر ،  نتشر کر ؛مسا( 1

نور  هک کوازارها و  ور هاخکه شان بر لو  هاخمهس وپ تمرکز کر ن  با را یهان ماری  از بس ارخ اندموانسته شناسانسکتاره »

 «.دنکن بررسی ،اند تتشر کر ه پ ش سال ها  ه ون لو  را

141- When J. Langdon Down first described savant syndrome in 1887, coining its name 

and noting its association with ………… powers of memory, he cited a patient who could 

recite Edward Gibbon’s The Decline and Fall of the Roman Empire verbatim. 

1) implicit 2) hasty 3) astounding 4) innovative 

 صحیح است. ۳گزینه  -۱4۱

 نوآورانه( 4 ؛اریب و عج ب (3 ؛شتابز ه( 2 ؛ضمنی( 1

 آن ارمباط و کر  گذارخنام را آن و  ا  موض   1991 سال  ر را نتساوا سندرم بار او  ن  اون براخ  نگدون. یی که هنگا ی»

 ا وار  «روم ا  راطورخ سقوط و نرطاطا» موانست ی که کر  اشکاره  ب ماریک  به کر ، ب ان را آور حافظهشکگفت  هاخقدرت با

 «کهمه از حفظ بخواند.بهکهمه را نگ بو

142- Because anemia can be treated with blood transfusions, some historians state that in 

the dark ages people with porphyria might have tried drinking blood as a folk ……… . 

1) misnomer 2) remedy 3) persistence 4) prejudice 

 صحیح است. 2گزینه  -۱42

 ( معصب4( پایدارخ؛ 3(  ر ان؛ 2( نام اهط؛ 1

  ن م اپورف ری به  بتلاافرا   سککن  که گویند ی  ورلان برلی شککو ،  ر ان لون مزریق با مواند ی لونیکم که یاییآن از»

 «نوش دن لون را به عنوان یک  ر ان  رهی ا تران کنند. است
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143- The toxins will cause the white blood cells to ………… to the point they are no longer 

able to fight germs. 

1) demote 2) degenerate 3) evolve 4) soar 

 صحیح است. 2گزینه  -۱4۳

 اوج گرفتن( 4 استنتاج کر ن؛( 3 از ب ن فتن؛( 2 منزل رمبه  ا ن؛( 1

 «نباشند. ها   روب با  بارزه به قا ر  یگر ورو به زوال روند  سف د لون گهبول که شوند ی باعم سموم»

144- The history of the kingdom of Naples is ………… interwoven with that of Sicily, with 

which for long periods it was united as the kingdom of the two Sicilies. 

1) loyally 2) zealously 3) inflexibly 4) inextricably 

 صحیح است. 4گزینه  -۱44

 ناپذیریدایی طوربه( 4 ؛پذیرانعطافطرز به( 3 ؛ شتاقانه( 2 ؛انهوفا ار( 1

  و اهیپا ش عنوان به با آن طولانی ی دم براخ که است، آ  خته  رهم س س ج با ناپذیریدایی طرزخبه ناپج پا شکاهی  ماری »

 «بو . شده  ترد س س ج

145- When a big company takes over a little company, the smaller company loses its 

separate identity and is ………… the bigger one. 

1) attributed to 2) challenged by 3) assimilated into 4) detracted from 

 صحیح است. ۳ گزینه -۱41

 به عهت شدهمخریب( 4 یذب کر ن  ر، مهف ق کر ن  ر؛ (3 ؛موسط شدهکش ده چا ش به( 2 ؛به شده ا ه نسبت( 1

  هد ی  ست از را لو  یداگانه هویت مرکوچک شرکت کند، ی یذب را کوچک شرکت یک بزرگ شکرکت  یک که هنگا ی»

 «.شو  ی مهف ق مربزرگ]شرکت[   ر و

146- To be better able to do his call presentation, the history student ………… the 

information he found in the encyclopedia with interviews of people who had fought in the 

war. 

1) augmented 2) gathered 3) exploited 4) concurred 

 صحیح است. ۱گزینه  -۱41

 ت کر  وافق( 4 کر ؛ بر ارخبهره( 3 کر ؛ آورخیمع( 2 افزو ؛( 1

براخ بهبو   ،، پ دا کر بو ند ینگ ده ینگ  ر که افرا خ با  صککاحبه با ا معارفهر ای  ر که رای اطلاعام ماری ، جوخ انشکک»

 «اش، اضافه کر .ارائه
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147- For most of us, there is an obvious discrepancy between the current self and the ideal 

future self. Self-discrepancy theory states that people will be motivated to reduce this 

discrepancy so that their current self begins to ………… their vision of their ideal self. 

1) contradict 2) overcome 3) disillusion 4) approach 

 صحیح است. 4گزینه  -۱41

 نز یک شدن( 4 ارخ از لواب و ل ال؛ب د( 3 کر ن؛ اهبه( 2  اشتن؛ مناقض( 1

 هانگ ز  ر مبه  که کند ی ب ان لو  رور نظریه.  ار  ویو  آلایده آینده و کنونی لو  ب ن آشکک ارخ التلاف  ا اکثر براخ»

 «نز یک کنند. شانآ ایده لو   یدگاه به راشان حاضر حال  ر لو  که طورخ به ، هند کاهش را التلاف این ما شو  ا ه  ی

148- Wayan Suta Negara was born on the slope of the sacred volcano but was forced to 

leave his home recently when fears of an eruption led to a mass ………… . 

1) genocide 2) evacuation 3) expediency 4) anomaly 

 صحیح است. 2 گزینه -۱41

 ناهنجارخ( 4  صهرت؛ (3 مخه ه؛( 2 کشی؛نسج( 1

 انهل شد شد،  جبور یمعی مخه ه به  نجر فوران از مرس که ال راً، ا ا شد،  تو د  قدس آمشفشان ش ب ناگارا  ر سکوما  وایان

 .کند مرک را لو 

149- Pterosaurs terrorized the skies for more than 160 million years until they went 

extinct alongside the dinosaurs some 66 million years ago. They are the largest animals 

to have ever flown, with some like the ………… Quetzalcoatlus having wingspans as large 

as fighter jets. 

1) colossal 2) primary 3) influential 4) coincidental 

 صحیح است. ۱گزینه  -۱41

 ( مصا فی4( بانفول؛ 3( او  ه؛ 2جثه؛ ا ( عظ م1

  نقرض  ایناسورها همراهبه که پ ش سال   ه ون 66 ما مسهط  ارند هاآسماناست که بر  سال   ه ون 169 از ب ش پترازورها»

  اراخ که ا جثهعظ مهاخ کوامز  واموس از برلی  انند اند،کر ه پرواز حال به ما که هسککتند ح وانامی بزرگترین هاآن. شککدند

 «.هستند ینگنده هاخیت اندازه به پهن یهایبال

150- While the brain, a physical entity, is ………… scientific investigation, the mind—an 

abstract, elusive quarry—is far less so, and questions about its architecture have occupied 

philosophers at intervals since classical antiquity. 

1) resistant to 2) hazardous for 3) amenable to 4) consistent with 

 صحیح است. ۳گزینه  -۱11

 با سازگار( 4 ؛یوابگویی قابج( 3 براخ؛ لطرناک( 2 ؛برابر  ر  قاوم( 1
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 ذیر عدن گریزناپ یکبه عنوان  لهن، ،اسککت یوابگویی قابج عهمی مرق قبراخ یک  ف زی ی،  ویو یت یک  غز، که حا ی  ر»

هاخ  ختهف از عصر کلاس ک ، ]لهن[ فلاسفه را  ر ز انآن  عمارخ  ور   ر الامیسؤ و اسکت،  گونهاین کمتر  رامببه انتزاعی،

  «.کر ه استبه لو   شغول 

Directions: Read the following two passages and select the best choice (1), (2), (3), or (4) that 

best answers each question. Then mark the correct choice on your answer sheet.  

 

ه س گ گزینکند، انتخاب کن د. که به بهترین شک ج یاخ لا ی  ر سکؤالات لیج را م م ج  ی   4یا  3، 2، 1راهنمایی: گزینه »

 «نا ه لو  علا ت بزن د.یر   را  ر پاسخ

Passage 1: 

The new study, published on Tuesday in the journal PLOs Computational Biology, looked at 

city dwellers all living in the same time zone in southern Europe. In previous work with the 

same data, the researchers estimated how often users called one another. Eventually, the 

scientists began to wonder whether there were patterns in the timing of calls. As it turned out, 

there were clear peaks and dips in phone calls throughout the day. One peak in outgoing calls 

was always at midday, while another was in the evening. In one city the group studied, for 

example, the early peak was centered around noon, while another occurred at 9 p.m. The lowest 

likelihood of calls going out was at around 4 p.m. and 4 a.m. 

Over the course of the year, however, there was a noticeable shift. The last call times crept later 

during a stretch of three or four months, even as the earliest call times grew earlier. The peak 

calling periods moved as well, with the morning peak moving earlier and the evening peak 

moving later. Then, the process  reversed direction. By the end of the year, the pattern somehow 

comes back to the same point where it was one year ago. The timing of this shift wasn’t random: 

It moved in tandem with the lengthening of days during summer and shorter days of winter. 

Other factors might affect the times that people make phone calls, including school and work 

schedules. To factor out these social influences, the researchers ordered cities according to how 

far west they were in the time zone. They then looked to see whether city with a slightly earlier 

sunrise and sunset saw a corresponding shift in its calling pattern, compared to a city with a 

later diurnal cycle. Indeed, the timing of the last calls and the first calls closely tracked the 

movement of the sun. In one group of five cities, there was about a 40-minute difference 

between the easternmost city and the westernmost one, even though schools got out at the same 

time and other factors were the same. 
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151- What is the main point made by the passage about the timing of calls? 

1) It does not follow a similar pattern worldwide. 

2) It tends to be longer when people are not working. 

3) It follows a pattern dependent on the length of daytime during the year. 

4) It seems to be random in all seasons during the year with more stability in summer time. 

 صحیح است. ۳گزینه  -۱1۱

  ر پاراگراف  وم گفته شده:

The timing of this shift wasn’t random: It moved in tandem with the lengthening of days during 

summer and shorter days of winter. 
 کر .مغ  ر  ی ز ستان کوماه روزهاخ و مابستان روزهاخ طول باهمراه  :نبو  مصا فی خبندز اناین مغ  ر 

 همچن ن  ر پاراگراف آلر گفته شده:

Indeed, the timing of the last calls and the first calls closely tracked the movement of the sun. 
 کر .مغ  ر   ان لورش د مبع ت  ی  ر حق قت، ز ان آلرین مماس و او  ن مماس از ز ان

152- The word “another” in Paragraph 1 refers to ………… . 

1) city 2) call  3) group 4) peak  

 صحیح است. 4گزینه  -۱12

 است. peakاست و سالتار  شابه آن را  ر یمهه  ار ،  anotherاو  ن اسمی که قبج از 

153- The findings of the research endeavor described in the passage support which of the 

following statements? 

1) The timing pattern of calls made by people in the same time zone follows a predictable trend. 

2) Phone call peaks and dips do constantly undergo changes in cities in the same season based 

on how busy the callers are. 

3) Reasons for change in people's phone call habits are different in different time zones. 

4) The duration of phone calls made by individual people is not fixed all through a year. 

 صحیح است. ۱گزینه  -۱1۳

 گفته شده: ر  تن 

To factor out these social influences, the researchers ordered cities according to how far west 

they were in the time zone. …….. . Indeed, the timing of the last calls and the first calls closely 

tracked the movement of the sun. 

   ا گویی  ر   ا مات مهفنی  ر یک  نطقه ز انی است. هنده ویوکه نشان
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154- Which of the following best describes the function of Paragraph 3 in relation to the 

first two paragraphs? 

 1) It refers to some other research studies already done in cities with different time zones to 

see if the findings of the study reported in the first two paragraphs are valid enough. 

2) It reports the attempt made by some new scholars to duplicate the study described in the first 

two paragraphs to see if the findings thereof are confirmed. 

3) It describes a follow-up study to investigate the role of some possible intervening variables 

in determining the timing of the calls. 

4) It provides evidence which is intended to qualify the claim made in the first two paragraphs. 

 صحیح است. ۳گزینه  -۱14

بندخ  دارس و  شکااج، پووهشی انجام شده  گرخ  ثج ز اناگراف سکوم، گفته شکده که براخ بررسکی  تغ رهاخ  دالهه    ر پار

  هنده عدم مأث ر این  تغ رها بو ه است.است، که نشان

155- Which of the following best describes the author's attitude towards the subject of the 

passage? 

1) Indifference 2) Impartiality 3) Amusement 4) Skepticism 

 صحیح است. 2گزینه  -۱11

 طرفی پر الته است.شده بدون قضاوت و با بیهاخ انجامنویسنده به ب ان نتایج پووهش

Passage 2: 

Get ready to nuke your packed lunch anywhere: a second microwave cooking revolution is 

around the corner. As well as portable ovens you can stick in a backpack, advances in 

electronics will enable appliances that detect when their contents are thawed or about to boil 

ever, and smart ovens which cook multiple items at different rates simultaneously. 

Conventional microwave ovens use a cavity magnetron, a vacuum tube developed for radar 

during the Second World War. Magnetrons are heavy and not efficient at generating 

microwaves. They may also create hotspots during cooking a problem that rotating the even’s 

contents on a turntable does not totally solve. 

Laterally diffused metal oxide semiconductor (LDMOS) microwave sources promise to change 

that. Similar to those used in cellphone towers and microwave communication systems, they 

are now being worked on by firms such as NXP, based in Eindhoven, the Netherlands. “The 

underlying technology has been here a long time. We're making changes to make it more 

specific and suited for consumer cooking appliances,” says NXP’s Paul Hart. 

The compactness and high efficiency of the source makes portable microwave cookery 

possible, such as the 1.5-kilogram Adventurer from Wayv, a company based in Hertford, UK. 

The size of a large thermos flask, it uses an NXP source that can heat up to half a liter of food 

or drink, in cycles of up to 5 minutes. The rechargeable lithium-ion battery is good for six 

cycles on a charge. 
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The Adventurer raised £150,000 in less than 19 hours on the crowd funding site CrowdCube 

in 2014. It will be launched first in the US early next year, and will cost about $200. Wayv 

envisages it being used by campers and hikers, as well as the military and first responders. 

Unlike with camp stoves, it produces no telltale smoke and carries no risk of carbon monoxide 

poisoning. 

156- What does paragraph 1 mainly discuss? 

1) New places that campers can hope to travel to thanks to a second microwave cooking 

revolution 

2) Features of some new appliances that are intended to be included in new microwave ovens 

3) The advantages of microwave cooking on camping trips 

4) Properties of a novelty that is down the line 

 صحیح است. 4گزینه  -۱11

 هاخ آن پر الته شده است.است و بعد به ب ان ویوگی یربت از یک انقلاب  ر  ای روفر ر این پاراگراف  ر ابتدا 

157- What does the word “that” in Paragraph 3 refer to? 

1) Hotspot created during cooking 

2) Conventional microwave oven size 

3) Rotating the oven's contents on a turntable 

4) Use of a cavity magnetron in microwave ovens 

 صحیح است. 4گزینه  -۱11

ی روفرهاخ  رسککوم  ر  ا  گنترونیککربت شککده و  ر پاراگراف  وم به  شکک لات حفره    ر پاراگراف اول  ر  ور  یک نوآورخ

 ته شده است و  ر نهایت به وعده  ای روفرهاخ یدید  بنی بر رفع آن  ر پاراگراف سوم اشاره شده است.پر ال

158- The statement quoted from Paul Hart in Paragraph 3 is intended to ………… . 

1) contrast a new technology with an old one 

2) supplement an earlier assertion 

3) publicize a new concept 

4) define a term 

 صحیح است. 2گزینه  -۱11

 ر بخش اول پاراگراف به رفع یک  ش ج  ر  ای روفرهاخ  رسوم اشاره شده و س گ نقج قو ی از پاول هارت آور ه شده  بنی 

اسککت براخ ن ازهاخ وسککایج آشکک زخ  شککتریان    که فناورخ زیرسککالتی ل هی وقت اسککت که ویو   ار  و منها کافی  بر این

 کننده ا عاخ قبهی است.بنابراین به نوعی م م ج سازخ شوند. ناسب
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159- None of the following can be inferred about the appliance made by Wayv EXCEPT 

that it ………… . 

1) was made in collaboration with NXP 

2) heats food contents faster than conventional ovens 

3) is more suitable for campers to carry around with them 

4) works on a battery that can be recharged as many as six times 

 صحیح است. ۳گزینه  -۱11

ه گفته شده ک  ر پاراگراف پنجم  ر پاراگراف چهارم  ر ور  فشکر گی و کارایی این  ای روفر قابج حمج یکربت شده و س گ  

 قرار گ ر . ،روند یا کوهنور انشو  که  ور  استفا ه کسانی که به کمپ  یب نی  یپ ش

160- The passage provides sufficient information to answer which of the following 

questions? 

I. Why does the Adventurer produce no telltale smoke? 

II. Are magnetrons still used in the construction of radar? 

III. Are conventional microwave ovens likely to cause carbon monoxide poisoning? 

IV. What makes portable microwave cookers portable compared with conventional 

microwave ovens? 

1) IV 

2) I 

3) II and III 

4) I and IV 

 صحیح است. ۱گزینه  -۱11

کند، ا ا به    ج آن اشاره نشده گفته شده که ا ونچرر  و  مو  د نمی ر پاراگراف آلر پاسکخی  ا ه نشکده و فقط    1به سکؤال  

 است.

ه گرفت ر سالت را ار  ور  استفا ه قرار  ی ،  گنترونن ز پاسخی  ا ه نشده، فقط گفته شده  ر ینگ یهانی  وم 2به سکؤال  

 ت.اس

 شو .پاسخی  ا ه نشده و فقط گفته شده  ر  ای روفرهاخ  رسوم از حفره  گنترون استفا ه  ی 3همچن ن به سؤال 

 :  ر پاراگراف سوم به این سؤال پاس   ا ه شده است.4سؤال 

 

 

  


